Coule sFxEHR HERMOIRR

Tachikawa

y = K>
1**3-%"#“7: bi-d-o

BE/2EE  EEEY
mE/2tE 20:30

12/ 3 O<7J<> * 31 x) 3F RY—I\WIRD—+t—5<) AVYTE

20:00 zoux

mne 20800~31800 0 - 30 Hom

ms/2e 10:00

NenEaD /2 20:00

SIS TS inTachikavva1 8 . OO EYQ=E S

pAE/2fE  EEIEY
/2 3@ FAlE /=88 20:30

X1/4(B) & BEEREBUET, — Tachikavva1 8 . 30 EJQ=E S

JPERISRIE 208(U)~3080K). 1848(8) 1317:00 T 12831HER)~1838E)IHAEE

@FESYRVI I PA IR @VTI(7 TUIINIUZYY
12/31(R)~1/1(&-%). 1/3(B) K2 12/27(B)~1/3(RH) K2

%12/29(K), 12/30(K)1#10:00~17:00& T
%1/2(1)i#10:00~14:00% T
OREIXF—H)—RI—)bailll @ECCHEFR

12/29(X)~1/3(H) K& 12/25(&)~1/4(R) AR
\. J




